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2H: SADED
Ba: CANE L WL (FELXAWL/XALSAI)
Sel: 2 2 BTOIKL (B9 @2
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES o o HRE2
OHA KA 24 400,000 * 154! 6,000
OSABE NES2 2N2S 10,000
OSoIZY HieE4 A 500,008 #1238 6,000
O+ SUAZDS AFEY L Fy|
150,0002! +307H 2 4,500
nEEREbE 565,574 235,020 330,554
2N (28)8Y 565,574 235,020 330,554
201 Yur2YHl 15,900 5,900 0
01 AtR2lY| 15,900 15,900 0
=0 & 15,900 5,900 0
ONETHEANE 2Y4Y
100,0002! 12 *73] 8,400
ouezIR 1,500,0008 *53| 7,500
202 OfHl 1,620 3,120 A1,500
01 2ol 1,620 3,120 A1,500
= 0 &t 1,620 3,120 A1,500
CEREBTER-EES T 1,620
203 YLEHY| 2,000 2,000 0
03 AHMZZSLFZY] 2,000 2,000 0
= 0 &t 2,000 2,000 0
OZAHY U TANE Y2
20,0001 *10% * 103 2,000
401 ANEHILRHY 546,054 214,000 332,054
01 A&l 542,000 212,000 330,000
=0 542,000 212,000 330,000
ORBAME (MEH) ZH (M) B
500,000, 00021 * 14! 500,000
OB ZIH(HY) B
20,000,000 *14! 20,000
OZANEZBHI(UPIS) BRE HHl
o 22,000,000 *14! 22,000
03 Al& = CH| 4,054 2,000 2,054
=0 & 4,054 2,000 2,054
OAN& L] 4,054
CAITH A A 4,535,220 0 4,535,220
= 200,000
2 4,335,220
SATHY SYAY BREA 4,135,220 0 4,135,220
101 Q12| 66,59 0 66,596




SN
X ZH -
L=

el

=
X
Jo
Ho
=
e
0
HM
He
pa]
19
=
ne
~
P
]9
He
M
>

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

M-8 e9(3) RN - BES e i HDE 2
04 JIZHZENSES 66,596 66,596
= Ofl &F 66,596 66,596

OZANMMXALEH 22X 21 24H| 66,596

201  ZEr2dEH| 56,424 56,424
01 At 22l 36,424 36,424
= 0fl & 36,424 36,424

OZANMNLEXAHEH 28, E2=2HH 10,000
OsZICIUOH =ZX=
367,000 x6L <123 26,424
03 A2 20,000 20,000
= 0l & 20,000 20,000
OFAS2Ls T2 NUL2I(TAHHLS
) 20,000

202 OdHl 1,000 1,000
01 =LA 1,000 1,000
= 0fl & 1,000 1,000

O A MEAY =g &Yl 1,000

203 YR=ZH| 1,000 1,000
03 Al F=&H L= 1,000 1,000
= 0l & 1,000 1,000

OS AN 245 253 & AMASFA 1,000

301 LEENZ 3,000 3,000
09 HAAHIXIES 3,000 3,000
= 0l & 3,000 3,000

OSAMMHEAY 23 ¥ NsHFAI Al 3,000
401 AEHIZ=ROYI 4,007,200 4,007,200
01 A&l 4,000,000 4,000,000
= 0l & 4,000,000 4,000,000
OZ AN 2H3AY =X (B4 S) 1,800,000
OZANY 2483 2F =& 200,000
OSSDNEZXNT MIRX B4 2,000,000

03 AIZ =044 7,200 7,200

= 0l & 7,200 7,200
OS AN Ed3tArY =& 7,200

SANMY =2 ABEYAY 400,000 400,000
S 200,000
o 200,000

201  LEr2E | 30,000 30,000




A TAIRSH

HF: TAHE @ (2 ELXNGMNLE/NSLEZ Al
SRl S A A AN (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
03 AI2ZHI 30,000 0 30,000
= 0l & 30,000 0 30,000
OSStNEZXNT AEEYAMY Foldz2
St 30,000
401 AI&BIZ =208l 370,000 0 370,000
= 200,000
= 170,000
01 Al&HI 370,000 0 370,000
= 200,000
= 170,000
= 0l & 370,000 0 370,000
= 200,000
= 170,000
OsstIEz AT AEIESAMY 370,000
& 200,000
= 170,000
S AAIEEHI 5,574,000 4,167,200 1,406,800
= 400,000
i 5,174,000
SENE-GMBIAACZ(AZ22-238)ME S Al 100,000 200,000 A100,000
401 A&BIZ =208 100,000 200,000 A 100,000
01 Al&HI 100,000 200,000 A 100,000
= 0ff & 100,000 200,000 A100,000
OSENE~GAMSA2H (22223546 )IHE 100,000
SAAHE RGN S=2EHU S A 972,000 752,000 220,000
201 LBt 49H| 20,000 0 20,000
01 At 2eltl 20,000 0 20,000
= 0ff &F 20,000 0 20,000
OZANZY W &8 57 Z&AY 20,000
401 AI&BIZ =208 952,000 752,000 200,000
01 Al&Hl 950,000 750,000 200,000
= 0l &F 950,000 750,000 200,000
O AMNAHEEZZE YR 300,000
OZANAEEZ SA22IALY 300,000
OHZAN-~-UHSHAZZ TAHEEZ F
i 200,000
OtlE BHOIE =8HE=2 FH| 150,000




D EANWE D

AHE 2 (I ELXENL /XA

Ho
H1
>

S AN S Gl
x s . Of &t o8 & & 0 A o -
M- Za . a2 (aH) HRAY - BaS SEa) T =2
03 Al&=CHl 2,000 2,000
=0 4 2,000 2,000 0
OAl &Lt 2,000
ZNEERT 2L 15,000 10,200 4,800
201 Yere | 15,000 10,200 4,800
01 A2l 3,000 0 3,000
=0 4 3,000 0 3,000
OXGHAE BOY M| 29 ¥
300,0002! * 102 3,000
02 BTl 12,000 10,200 1,800
=0 4 12,000 10,200 1,800
OSENGHAE AERHRXL ¥ 222
2 700,000% * 12 8,400
OZANAHEETR JRS HIRI
200,000% * 128 2,400
OZANANETR ZHE 23
10,0002 * 12 1,200
HMAEOIZ~IIBAHRIZ S2(521-1058)He 500,000 0 500,000
401 AlEHIL S 500, 000 0 500,000
01 Al 500,000 0 500, 000
= 0f 4 500, 000 0 500,000
OWHAEDIZ-INEAHRIA C2(ER1-10
sH)H 500, 000
SAANHSZHEBA 2,655,000 1,575,000 1,080,000
401 ANEHILHY 2,655,000 1,575,000 1,080,000
01 Al&g] 2,650,000 1,570,000 1,080,000
=0 4 2,650,000 1,570,000 1,080,000
OB AN S| 150,000
OBt E~HA2E2 T2 (423-65)H4A 30,000
OBUOISYR FHECZ(A21-58) K& 30,000
ONHED FHTR(AR3-873)HE 30,000
OZEXNTU-IIZMIIOED T2(A22
-443 )M & 30,000
ORSNSY? CAHNLC2(523-55)
He 30,000
OB At 700,000
Of=racz(523-183)He 300, 000
OREOIIE ZHE2 (222275 )W & 300, 000
OJIB0IS WYL (L22-42546) HA 100,000




SN CARED
o CANE L OHL(FELNSNL/XALEA)

S T AIAIE Z I (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
OEX 0OHebl 1,800,000
OFYAAHEI~+=20IE22 S2(AZ2-16
S)oH4 100,000
ODS2Xt OIIIE F=HEZ2(AZ22-163 )M
o 200,000
ODnHsN~=usSt E2(A21-78)
HE 200,000
OYE SANHEECEZ(ZE21-245 )& 100,000
OMNBsg THEZ(AR2-85)14 200,000
ODE=2ANE FTBHEZ(AR22-285 )M
o 200,000
OHlE SAHEEZT2(AR2-505 )4 100,000
ODNHEHE~AsHESAMYA T2 (A22-1
25 )& 100,000
OHBEZESHDN~HARAZ E2(AR234
85 )& 100,000
Odelw FHER(A22-45 )44 200,000
OZANAHEEZ DIEE2AX B4 300,000
03 A&ES20Yl 5,000 5,000 0
= 0l & 5,000 5,000 0
O A& 20HYI 5,000
SAHEC2HE ZAHEX) 1,300,000 500,000 800,000
== 400,000
o 900,000
401 AEHI L 20| 1,300,000 500,000 800,000
== 400,000
= 900,000
01 Al&HI| 1,300,000 500,000 800,000
== 400,000
= 900,000
= 0l & 1,300,000 500,000 800, 000
== 400,000
o 900,000
OUWME=W~DNEZTN2 T2 (AR22-195 )M
A S At 700,000
== 200,000
o 500,000
OSsHAE~MLWI2 T2(A21-55)M
& S Al 600,000
= 200,000
= 400,000




SN

S A WS

HF: TAHE @ (2 ELXNGMNLE/NSLEZ Al
oel: S AIAIE JHI (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
zU HEA Ol nEEE N 32,000 30,000 2,000
201 LBt 49| 2,000 0 2,000
01 At 2eltl 2,000 0 2,000
= 0ff &F 2,000 0 2,000
o= &N BE Ity EE 2,000
307 QIztol ™ 30,000 30,000 0
06 2832 30,000 30,000 0
= 0ff & 30,000 30,000 0
O=2 U&EH 08 REEE HYXNE 30,000
U sAHESHLAIE(RDES) 659,000 0 659,000
= 462,000
= 59,000
o 138,000
DHE SEZANELBAY 659,000 0 659,000
= 462,000
& 59,000
= 138,000
401 AI&BIZ =208 659,000 0 659,000
s 462,000
& 59,000
= 138,000
01 Al&HI 659,000 0 659,000
= 462,000
= 59,000
i 138,000
= 0ff &F 659,000 0 659,000
= 462,000
= 59,000
= 138,000
OLNdE s8N g4dstad 659,000
= 462,000
& 59,000
= 138,000
HAY2FZHI(IIEH/IIE}) 83,206 97,006 A 13,800
Jl2Z I (S AIJHE D) 83,206 97,006 A 13,800
HEFXAH| 3,600 3,600 0
203 YR F=&Hl 3,600 3,600 0




2M: SARSH
Y HE2GAYI(JIEH/DIEL)
Sel: J2ZH(ZAINE D) (o2&
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
04 EN2EAHARFEHI 3,600 3,600
= 0l & 3,600 3,600 0
ORAN2IHRF=LH 300,000& x12& 3,600
2 B2 A H 25,546 29,806 A4,260
201 LEt2I| 25,546 29,806 A4,260
01 At 2teltl 24,146 28,406 A 4,260
= 0l & 24,146 28,406 A4,260
o= &l 3,917
o gt=ZH| 20,229
02 =524l 1,400 1,400 0
= 0l & 1,400 1,400 0
022223 ¥ HA 400
O A& &H| = X gl 1,000
O gl 54,060 63,600 A9,540
202 Ol 54,060 63,600 A9,540
01 =AYl 54,060 63,600 A9,540
= 0l & 54,060 63,600 A9,540
O30l 54,060
OZHLH G I 200,000 x17F x12& 40,800
O22 bl 65,0002 x17F x12& 13,260
MEES(SAMNLINZELRGNL/XNALT A 300,000 500,000 A 200,000
LHEHHX S (S AL D) 300,000 500,000 A 200,000
EI0IEHSANHEANEUXNEL SELHIH &2 300,000 500,000 A 200,000
701 JIEtHSEES 300,000 500,000 A 200,000
01 JIEtaHEEZ3 300,000 500,000 A 200,000
= 0l & 300,000 500,000 A 200,000
O&EII0IEY AL SEIH 853 300,000
MEES(TARSIH) (MY - SAILLUEX/aSH R 221,000 1,140,490 A919,490
E.-053%)
HEHAHXES(SAILS D) 221,000 1,140,490 A 919,490
FAZELIN HES 221,000 1,140,490 A 919,490
701 JIEtIHEEES 221,000 1,140,490 A 919,490
01 JIEt=lHE =3 221,000 1,140,490 A 919,490
= 0l & 221,000 1,140,490 A 919,490
O=FXE E43lH &3 221,000
NEHY HE(RELSR/UEUE - 2]SIIEH 7,008,128 5,615,452 1,392,676




EX: ARSI
HM: NSHEE NHE(DSLESF/Hz0E - 2FSIIE
@2 sus29 (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
= 83, 155
Fag 65,250
== 739,394
- 6,120,329
szsnssd 1,044,268 1,219,361 A 175,093
= 83, 155
= 86,016
o 875,097
nsdy 29 440,603 235,695 204,908
101 [elals] 24,014 0 24,014
04 JI2ZtHZ22XAsSE =+ 24,014 0 24,014
= 0ff & 24,014 0 24,014
OCHEHA =220 29 24,014
(OPIE=}=1 51,540& x2 x52ZF x4 H 21,441
OBEggE2 21,441,000& *12% 2,573
201 282 A Y| 392,589 231,695 160,894
01 Ar®2telt] 182,874 92,800 90,074
= 0ff & 182,874 92,800 90,074
oAYE U Ne
75,000 =12 = 1650H 148,500
OXtg 3™ WHHE X& 150, 000& *165CH 24,750
OEHA SHEZ2A2ANAE S2HH| 2,324
ONHEZEHAZXNRARYS & X3
70,000& *5H *23| 700
ONYH=EA 0l MZ 550,000&*12& 6,600
02 =294t 209,715 138,895 70,820
= 0l & 209,715 138,895 70,820
0322 % MA 209,715
OLNESEHABEHOE S2U &S A
== 800
ODNEZ2EH2HOYE MRS X3
600,000& «12& 7,200
OZ0ItHEta MIIM & Adotx=5 AMEs
200,000& x12& 2,400
OHEEOIE MIIM & Aot=E MES
500,000& x12& 6,000
QUEXNSIIS NEANEE JIIRS
5,000,000& «12& 60,000
QUSASISUESANEZE HIHNEFA
2 80,000& x200H 2 16,000




2H: SADRED
HH: DEHH N (RELSE/UHZDS - 2R SIIEH
S99 HERE2SY (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
ORoDES=3t0at o4 & FHII2A
2,000,000 #3474 4 68,000
ORUDSS=3H HOIE AS
30,0002 %344 4 1,020
OHAAVIY VEARED SX SHE
33021 20, 0000 6,600
ONEHHREN SEZLs 2R
3302 * 15, 00001 4,950
OBEIZIXAM SIIZ  1,9808+16,5005 32,670
ONEBHBRDXN B2 SII2
1,6302 2,500 4,075
203 YLEZYI 1,000 1,000 0
03 AHERYLEZY 1,000 1,000 0
=0 & 1,000 1,000 0
ORSHHAH =7 10,0002 *103] 1,000
207 AT 20,000 0 20,000
01 HxE9H 20,000 0 20,000
=0 & 20,000 0 20,000
OSHEHATHEXAN B2 FIHNEBY 20,000
307 gI2tolE 3,000 3,000 0
02 BIATAAYRE 3,000 3,000 0
=0 & 3,000 3,000 0
ODNHZTHSEN S 3,000
DEUX SEUS4H 29 319,980 417,470 £97,490
201 Ysiegyl 2,980 1,470 1,510
01 At eyl 2,980 1,470 1,510
=0 & 2,980 1,470 1,510
ONSANOSHASIANG FH 2
70,0002 *7% *23] 980
ONEANSLRELE &S
2,000,000 *13| 2,000
307 2I2t0lE 274,000 290,000 £16,000
05 QI2eletz 274,000 290,000 16,000
=0 & 274,000 290,000 £16,000
ONSAN SEDE+E 2Y
54,800, 0002 *5CH 274,000
405 T&H S 43,000 126,000 83,000
01 TMUSEHSY 43,000 126,000 83,000
=0 & 43,000 126,000 83,000
o=sxZ DA PY 43,000,000% *1CH 43,000

_10_
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A TANEDN
M NEHHE NE(LELER/HERS - 2RSIIEH
tel: Hzsnsad (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
403 XXEHSTH201& = 83, 156
i 110,874
02 SIS0 e X2 = E A HI 277,185 0 277,185
= 83, 155
= 83, 156
= 110,874
= 0l &F 277,185 0 277,185
= 83,155
= 83, 156
= 110,874
OsHE(Z)XNE S8 &Y BIS A
8,479,000& *15J1 & 277,185
= 83,155
= 83, 156
i 110,874
2=9xd XA 3,724,840 3,262,276 462,564
fas 65,250
= 503,378
i 3,156,212
HICHEABAZXE 633,264 688,264 A 55,000
& 100,000
- 533, 264
307 gIztold 633,264 633,264 0
= 100,000
= 533,264
09 2+9AHEXZ3 633,264 633,264 0
= 100,000
= 533, 264
= 0l & 633,264 633,264 0
& 100,000
= 533,264
OENLH &AE43 633,264
& 100,000
i 533,264
2gHd A2 1,565,498 1,510,000 55,498
101 o244l 5,498 0 5,498
04 JIZtHZZ2NSE =+ 5,498 0 5,498

_12_




A SARSH
M WEHEY NE(LSLER/UEWS - 23 SIIE)
tel: 29 KA (cte ®
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
= 0l & 5,498 0 5,498
OHl+od DEBEA o5
68,720 x5 23| x8H 5,498
307  QI2tol A 1,560,000 1,510,000 50,000
09 2+HHEXZ 1,560,000 1,510,000 50,000
= 0ff &F 1,560,000 1,510,000 50,000
ORIINMEXZ 1,500,000
Ot d =4EBMZ 60,000
HAEE WSSEFTA 35,048 39,412 AN4,364
& 7,548
[ 27,500
101 o144l 35,048 39,412 AN4,364
& 7,548
= 27,500
04 JI2ZtHZ22HSE* 35,048 39,412 A4,364
T 7,548
= 27,500
= 0l & 35,048 39,412 AN4,364
& 7,548
= 27,500
QYL NEHEITA 2I2Y
68,720 x5 23| x51Y 35,048
& 7,548
= 27,500
SHEHA WSIE =3 NA 14,000 7,000 7,000
& 7,000
= 7,000
307 QIztol M 14,000 7,000 7,000
= 7,000
= 7,000
02 QUAHABLASEX 14,000 7,000 7,000
= 7,000
= 7,000
= 0l &F 14,000 7,000 7,000
= 7,000
= 7,000
OZUHA WSIHE =5 XA 14,000
= 7,000

_13_




2M: SARSH
M NEHHE NE(LELER/HERS - 2RSIIEH
oo 24l X CERT
A EY - SA(B) - NS - B (X o) ) DS
| | z 7,000
SHEHA WSIHE 2z X2 72,530 30,000 42,530
307 glztol A 72,530 30,000 42,530
02 QUAHABLASEX 72,530 30,000 42,530
= Ol & 72,530 30,000 42,530
OF LKA NEIHE 232 X2 72,530
BAR3 HEZM =2 XA 15,500 11,000 4,500
= 5,500
@ 10,000
307 glztol & 15,500 11,000 4,500
= 5,500
i 10,000
02 QUAHABMASEX 15,500 11,000 4,500
== 5,500
i 10,000
= 0fl & 15,500 11,000 4,500
= 5,500
= 10,000
OAIRZ IHEZHM =5 XA 15,500
& 5,500
= 10,000
SHEHA MEXNEAZ 850,000 600,000 250,000
= 300,000
= 550,000
307  glztol A 850,000 600,000 250,000
& 300,000
= 550,000
09 2+HHEXLZS 850,000 600,000 250,000
< 300,000
= 550,000
= Ol & 850,000 600,000 250,000
= 300,000
i 550,000
O=sHEHA MHEXIAS 850,000
= 300,000
= 550,000
FHATY 240,000 240,000 0

- 0p

_14_




2M: SARSH
M NEHHE NE(LELER/HERS - 2RSIIEH
oo 24l X CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
405  AHaHFESHI 240,000 240,000 0
01 A& 2EFHSHI 240,000 240,000 0
= 0l & 240,000 240,000 0
O=sgHA 2 120,000, 000& »2CH 240,000
DEAH=SEA 29 244,000 136,600 107,400
s 65,250
= 83,330
[ 95,420
307 QIztol M 244,000 130,000 114,000
s 65,250
& 83,330
= 95,420
09 2+9AHEXZ 244,000 130,000 114,000
= 65,250
= 83,330
i 95,420
= 0l & 244,000 130,000 114,000
fas 65,250
= 83,330
= 95,420
OLNHASEHA 2 244,000
= 65,250
& 83,330
= 95,420
HALHE=AEA UXSHMAEES (AR AL 55,000 0 55,000
308 XXEHHMSO0IH 55,000 0 55,000
07 RXESH2URES 55,000 0 55,000
= 0l & 55,000 0 55,000
OYEXNC-HE=AMEAN UYL (AFA
Al) 55,000
WSAIEE8 22l 2,160,370 1,039, 165 1,121,205
= 150,000
= 2,010,370
HASHOUOIA 2tel 471,190 314,696 156,494
101 012y 12,370 8,016 4,354
04 JIZtHZZ2NSE =+ 12,370 8,016 4,354
= 0l & 12,370 8,016 4,354
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2H: SADRED
o DSUY WA (RSLSB/HELS - 2RSIIE)
oelr DEALE B2 (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OYLAAS Q% 68,7202 *602 *3% 12,370
201 Yur2YHl 18,000 18,000 0
01 A2yl 9,000 9,000 0
=00 & 9,000 9,000 0
O & (U )] 2,000,000 %304 2 6,000
OHDIZ(HASZE) NZE L =dE X
X3 3,000
02 ZZ2YH| 9,000 9,000 0
=0 & 9,000 9,000 0
OHOIE L 20IHEA 272 44
3,000,000 %304 2 9,000
307 Q120 H 76,320 49,680 26,640
05 QI29IEr3 76,320 49,680 26,640
=0 & 76,320 49,680 26,640
OHASHIIIA Ho BI2ASE
12,0002 38074 2 *123] 54,720
OWEEOIE 2l 2X N
1,800,000 *122 21,600
401 ANEHL20Y 364,500 239,000 125,500
01 Al&HI 364,500 239,000 125,500
= 0 &t 364,500 239,000 125,500
OHASAGIIA B4 1,500,0008 %5004 £ 75,000
oHASAGIIA AE L DA
10,000,0002! * 1294 2 120,000
OMASAYIIA Y XY LAY
1,600, 00021 %357 £ 56,000
OB AQHHE A7} MX 450,008 *307H £ 13,500
ONHTYOLEDE AR & B4
100,000, 0008 *14] 100,000
AFALE e 1,389, 180 723,700 665,480
207 AT 30,000 0 30,000
01 ARS | 30,000 0 30,000
=0 & 30,000 0 30,000
ORBEE S MBS 8
30,000,000 *14! 30,000
401 ANZHIL LY 1,359, 180 723,700 635,480
01 Al&HI 1,359, 180 723,700 635,480
= 0l 4t 1,359, 180 723,700 635,480
ODEABI| HA U FNBA 432,600
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S SADEDN
Y NSHAE N (RSLER/UESNS - 2]SIIE
S NSANES 22 (cte ®
x - . 0l &k i 0 Ao ~
SN BB (BH) - HRMY - B SEa) Sl HlRE 2
Ok WsSkss #F uiH
40,000, 000& *4JH A~ 160,000
Oz WEANSE M A
6,400,000 *4JH A~ 25,600
ons 22s a4 13,000,000 *11JH A& 143,000
OL%® Ws 228 3 A
15,000, 000& =44 60,000
OQueEdsIl &8 91 ¢ E=
22,000,000& *23| 44,000
OEHEE & XHAE &X 237,000
OS2 T LEDEZD| &&
5,000,000& =334 2~ 165,000
OS2 T LEDEZD| WA
1,200,000& *21J4 4 25,200
OnzZA g3 &4 1,800,000 26K & 46,800
0ONHEE AHFT5030 A WA 20,580
OHMstEE nEtdEEX Ayl
250, 000& *70H 17,500
OHMStEE “HEA HH| 44,0003 *70IH 3,080
ONeoEsY nEsd Mo 45,000
OoeoeEs?d dss &H Mo
8,000,000& *3J4 4~ 24,000
ONE0IEEa Y B82S &M Mo
3,000, 000& *7JH A~ 21,000
OusSetdEX & SHHAl 22 170,000
OQustdERX &4 & SAES
60,000,000 *14] 60,000
OgZE 842 XAl BEX &l&
1,500, 0003 *204 4~ 30,000
OEHEE 5 THIEA & ¥ KA
= 35,000,000 *14] 35,000
O&HEE F=H ZAA Fb|
4,500,000 =104 2 45,000
OMOIII &S & & SANE=> 54,000
OMOIIl B2&S &lE 2,000,000 154 & 30,000
OMOolI3 B3Z2E RANE=
24,000,000& *14] 24,000
ORI WSEH=FH A4 40,000,000 *10CH 400,000
MAGEA 22T XA (LS =200 300, 000 300, 000
ab)
& 150,000
= 150,000
401 AlEHIZL 20 300,000 300,000
& 150,000
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HH: DEHH N (RELSE/HEDS - 2R SIIEH
cel: REALE 22 (2@ 8)
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
401 AEHIZSROHI = 150,000
01 Al&Hl 300,000 0 300,000
= 150,000
s 150,000
= Ofl & 300,000 0 300,000
= 150,000
= 150,000
OHAHHEA 2YED &X
50,000, 000& «6IH 2~ 300,000
S 150,000
= 150,000
FUHEM EE 78,650 94,650 A 16,000
=98 =X =5 78,650 94,650 A 16,000
201  LEr2EH| 45,650 58,650 A 13,000
01 AtR2Zeltl 4,950 20,950 216,000
= 0l & 4,950 20,950 A 16,000
O g Bt+==H| 4,950
ODNSIMES 82 2,000
OFIASIE DR 2T DAN 2L
120,000 =108 A 1,200
OFFXSI AEIH L BDE oIy
350& x5, 0000H 1,750
02 2229l 40,700 37,700 3,000
= Ofl & 40,700 37,700 3,000
OO0 SAE AN KX S 2 8,000
O EAI N R 22
3,000, 000& 74 & 21,000
OSHEINSAYAAY ST E2H| 4,500
OSHEIINCSAYALY STABE
100, 000& 1204 & 1,200
OSHEHINUSAYNAY HUEBL2X
500,000& 1204 & 6,000
202 OdHl 3,000 6,000 A 3,000
01 =LA 3,000 6,000 23,000
= 0l & 3,000 6,000 A 3,000
OFFASEAD SHO 3,000
401 AMEHIZY RO 30,000 30,000 0
01 Al&Hl 30,000 30,000 0
= 0l & 30,000 30,000 0
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